Demography:  A Newspaper Population

Introduction: We will be examining a “population” that we will get from the newspapers of the past year, and calculating demographic statistics just like population biologists do.  We will consider all data gathered to be for the entire year, and will make predictions about what will happen to this population over time.

Question:  What demographic changes happen to a human population in the Triangle area of North Carolina over the course of one year? 

Hypothesis:  Make a prediction about the above question.

Materials:  Newspaper obituaries, birth, wedding, engagement, anniversary, and death announcements, calculator

Procedure:

1. Examine the newspaper clippings provided to assess the total number of individuals in the population assuming that all individuals (except those being born this year) are alive at the beginning of year one.

2. For the initial data (table 1), make counts for each gender.

3. For the population size after 1 year (table 1), make counts for each gender of individuals born or died.

4. Subtracting the number whom died and adding the number born, calculate the total number of individuals left in your population after 1 year.  Fill in the chart.

5. Calculate Birth and Death Rates for the whole population, and for each gender separately, using the following formulas:

 
Birth rate=# individuals born/initial population size


Death rate=# individuals died/initial population size

Data/Analysis:

Table 1: General Birth/Death info.

	Gender
	Initial  Population Size
	Number Born in One year
	Number Died in One year
	Population Size After One year

	Male 
	
	
	
	

	Female
	
	
	
	

	Totals 
	
	
	
	


Calculate  Birth and death rates as shown above.

Table 2: Age Information for the population after 1 year

	Age Group
	Gender
	Number of Individuals

	Under 10
	M
	

	Under 10
	F
	

	10-20
	M
	

	10-20
	F
	

	20-30
	M
	

	20-30
	F
	

	30-40
	M
	

	30-40
	F
	


(Continue the chart to age 80+ for male and female if you have individuals of those ages)

Make an age structure graph like the one on pg. 127 in your book using the information in table 2.

Conclusion:

1. How do your results compare to your hypothesis?

2. If we assume that reproductive age is between 10 and 40 years, would you say that this is a stable, rapid growth, or slow growth population?  Why?

3. How would immigration and emigration affect your results?

4. How does the size of this population affect your statistics?  Do you think that you’d get the same results with a larger population?  With a smaller one?

5. If you assume that all females of reproductive age will have 1 child next year, how will that affect the population in the future?

6. Are there limitations to our study?  What are they?

